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int main{()
int temperature;

cout << "Please enter a temperature: ";
cin >> temperature;

if (temperature <= 15) {
if (temperature <= 0)
cout << "It's freezing outside!" << endl;
else

cout << "It's quite chilly outside." << endl;
} else if (temperature <= 25) {

cout << "The weather is mlld and comfortable. "™ << endl;
I else

cout << "It's warm and sunny!"™ << endl;

}

return 0;

\_,;J\/{? - g5bf'“" Q‘)a.;.wd

*
“. 00/

3
&/‘jyi
ES st

OD



93?»35;'&7:Lﬁﬁﬁﬂ QSLQ{)sﬁluaﬁ

08B 31 L Lols gy o0 )5 4 oF o oF S 4 IT..ElSE jguws 84 ”/LZ;’.”%
1035 (o0 ool oS o Joalljgiws (ol 4 3xd Cr ) Bt
D oo Suder L IT o 5T Lelse ya
S oo JLeTelse pdgl 311y 4l oyl ddiod b

int main/{()
int temperature;

cout << "Please enter a temperature: ";
cin >> temperature;

;f (temperature <= 15) {
if (temperature <= 0)
cout << "It's freezing outside!" << endl;
L else

cout << "It's quite chilly outside." << endl;
; else if (temperature <= 25) {

cout < "The weather is mlld and comfortable."™ << endl;
} else (4

cout << "It's warm and sunny!" << endl;

}

return 0;
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int main()
int =, v;

cout << "Enter two positive integers: ";
cin >> x >> y;

if (y !'= 0) {
if (x5 yv == 0)

cout << y << " divides " << x << endl;
else

cout << yv << " does not divide " << x << endl;
I else

cout << y << " does not divide " << x << endl;

return 0;
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int main()

{

int a, b, max;

cout << Enter two integers: ;

cin >> arx> b;

max = a;
if (b > max ) {
max = b;

cout << "maximum number 1s : " << max << endl;
else if (max > b){

cout << "maximum numkber 1s : << max << endl;
else |

cout<<"error";

return U;
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main{) |
int a, b, o

cout << "Enter three integer numbers: ";
cin *> a »> b >»* c;

if (a < b)) {

if (a <= <) |
cout << "Minimum number = " << a << endl;
} else |
cout << "Minimum number = " << ¢ << endl;
}
} else if (b < <) |
cout << "Minimum numbker = " << b << endl;
} else |
cout << "Minimum number = " << ¢ << endl;

return 0O; iw%uﬁ‘vcCJL>(Jt;Q39(>tgA9)Q
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int main()

int a, b, c, min;
cout << "Enter three integer numbers: ";

F
cin *> a »> b *> c;

if (a <= b && a <= c) |

min = a;

} else if (b <= a && b <= <) |
min = b;

I else |
min = C;

}

cout<<"Minimum number = "<<min;

return 0U;

}
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{ int score; g2l
cout << ""Enter your test score: '*; cin >> score; 90 - 100 A
(score > 100) cout << ""Error: that score is out of range.""; ~=80 B
(score >=90) cout << ""Your grade is an A."" << endl;

If (score >=80) cout << ""Your grade isa B."" << endl; >=10 ¢

else if (score >=70) cout << ""Your grade isa C." << endl, >=60 D
else if (score >= 60) cout << *"Your grade is a D."" << endl; 0-60 E

if (score >=0) cout << ""Your grade is an E."" << endl;
else cout << "Error: that score is out of range.";

}
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switch (expression)

case 1: statementlistl; Ll o ] or e S5l S 5oke
case 2: statementlist2; A3l 3l 6 SHEL s ¢ 5

case 3: statementlist3;

case N: statementlistN:
default: statementlistO:
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